8.SINIFLAR ÇARPANLARA AYIRMA 


1
[image: image1.wmf]4

  

  

x

2

   

4

  

x

  

  

.

 

   

2

x

  

x

3

2

+

-

-

= ?

1. 
[image: image2.wmf]9

  

  

x

3

   

3x

  

 

x

  

  

.

 

)

 

3

 

 

x

 

(

  

9

  

 

x

  

2

2

2

-

+

+

-

 = ?

2. 
[image: image3.wmf]3

 

 

x

   

)

 

2

 

 

x

 

(

 

3

 

 

x

   

-

-

-

 = ?

3. 
[image: image4.wmf]    

x

x

   

  

2x

   

  

:

  

2

x

x

   

8x

  

 

x

4

2

2

2

2

+

-

+

-

 = ?

4. 
[image: image5.wmf](

)

2

2

2

2

2

y

 

x

  

y

 

6

  

  

3xy

   

   

:

  

xy

2

x

  

 

y

 

6

 

 

x

3

 

   

-

-

-

 = ?

5. 
[image: image6.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

-

-

+

+

-

-

+

-

12

x

3

4

x

3

x

 

:

 

x

x

x

2

2x

 

:

 

1

x

1

x

2

x

2

2

3

2

3

2

 = ?

6. 
[image: image7.wmf]xy

x

ay

ax

bx

ax

ab

a

  

.

  

b

 

 

a

by

bx

ay

ax

2

2

2

2

+

-

-

-

-

+

-

-

+

-

  = ?

7. 
[image: image8.wmf](

)

1

a

a

   

1

a

2

a

  

  

.

  

   

 

1

 

a

  

  

1

 

 

a

2

2

3

3

+

+

+

-

-

-

  = ?

8. 
[image: image9.wmf]2

2

2

3

2

2

3

3

y

xy

  

xy

y

x

x

   

  

:

  

y

2

2x

  

y

x

  

+

+

+

-

-

 = ?

9. 
[image: image10.wmf]?

2

x

x

     

2

x

3

x

     

  

.

  

3

x

2

x

    

1

x

2

x

   

2

2

2

2

=

-

-

+

-

-

+

+

+


10. 
[image: image11.wmf]a

 

 

ax

  

a

 

ax

  

  

:

  

1

a

    

1

x

a

ax

   

2

-

+

-

+

+

+

 = ?

11. 
[image: image12.wmf]10

  

y

 

 

x

  

  

:

  

8

  

4y

 

x

4

  

2

2

+

-

 = ?

12. 
[image: image13.wmf]1

2

2

2

2

25

 

 

x

  

4

 

 

x

  

  

.

  

25

x

10

x

   

10

 

 

3x

 

 

x

  

-

÷

÷

ø

ö

ç

ç

è

æ

-

-

+

+

-

+

 = ?

13. 
[image: image14.wmf]÷

÷

ø

ö

ç

ç

è

æ

+

-

-

+

÷

÷

ø

ö

ç

ç

è

æ

-

+

-

-

2

b

3

b

3

a

2

a

 

  

:

  

b

 

 

1

  

b

2

  

 

.

 

b

  

 

4

  

1

 

a

  

2

2

2

2

  = ?

14. 
[image: image15.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

÷

÷

ø

ö

ç

ç

è

æ

-

y

 

1

 

  

 

x

 

  

:

  

y

 

1

  

 

x

2

2

 = ?

15. 
[image: image16.wmf]5y

 

 

x

4

   

x

7

x

   

  

.

  

49

x

  

y

25

x

16

 

2

2

2

2

-

-

-

-

  = ?

16. 
[image: image17.wmf]2

2

2

3

3

3

a

 

4

 

b

ab

a

  

  

.

 

 

b

a

 

a

 

8

  

+

+

-

 = ?
17. 
[image: image18.wmf]  

3

x

2

x

  

  

9

x

  

  

:

  

1

x

   

6

x

5

x

  

2

2

2

2

-

+

-

-

+

-

 = ?

18. 
[image: image19.wmf]2

2

3

3

2

2

3

3

b

ab

a

  

b

a

   

  

.

  

   

b

ab

a

  

b

a

   

+

-

-

+

+

+

 = ?

19. 
[image: image20.wmf]÷

÷

ø

ö

ç

ç

è

æ

-

-

+

÷

÷

ø

ö

ç

ç

è

æ

+

-

+

1

b

a

  

b

a

  

  

:

  

b

a

  

b

a

  

 

1

  = ?

20. 
[image: image21.wmf] 

kaçt

ıaç

     

?

 

 

4

 

 

4x

 

 

x

göre

 

oldu

ğldu

     

5

 

 

 

2

 

 

x

2

=

+

-

=

-


21. 
[image: image22.wmf]17

,

0

  

)

  

2,25

   

(

  

  

)

  

6,25

  

(

  

2

2

-

 = ?

22. x = 3 -
[image: image23.wmf]8

     y = 3 +  
[image: image24.wmf]8

   olduğuna göre         x2  -  y2   ifadesinin  değeri kaçtır ?

23. a =  
[image: image25.wmf]1

3

 

+

   ve    b  =  
[image: image26.wmf]1

 

3

 

-

   ise              
[image: image27.wmf]ab

  

2

  

  

  

b

  

1

  

  

  

a

  

1

  

2

2

+

+

   ifadesi kaçtır?

24. 
[image: image28.wmf]÷

÷

ø

ö

ç

ç

è

æ

+

÷

÷

ø

ö

ç

ç

è

æ

-

-

-

x

 

1

 

  

  

1

  

  

.

  

 

  

1

x

  

   

2x

  

 

  

  

1

x

  

  

1

   

 

2

  = ?

25. 
[image: image29.wmf]5

x

 

y

  

  

  

y

  

x

  

=

+

    ise  
[image: image30.wmf]  

2

x

 

y

  

  

  

y

 

x

  

 

2

2

2

2

+

+

=

26.  x2  + 1 =   
[image: image31.wmf]9800

   

1

 

  

99

   

4

-

   ise    x  =  ?

27. 
[image: image32.wmf]y

 

 

x

 

y

  

   

 

:

 

  

 

y

  

  

 

x

  

     

1

      

  

  

  

y

  

  

 

x

 

     

1

      

 

-

÷

÷

ø

ö

ç

ç

è

æ

+

-

-

=?

28. 
[image: image33.wmf]1

  

 

n

   

n

  

 

n

   

  

  

     

n

   

1

   

  

  

1

   

1

n

   

2

   

  

 

n

  

2

-

+

-

+

-

-

  =  ?

29. 
[image: image34.wmf]?

5

y

6

y

6

x

x

  

  

 

:

 

 

25

 

 

y

  

x

9

x

   

  

.

  

 

x

 

 

xy

   

2

 

 

x

  

  

2

2

2

3

=

÷

÷

ø

ö

ç

ç

è

æ

+

-

-

-

÷

÷

ø

ö

ç

ç

è

æ

-

-

-

+


30. 
[image: image35.wmf]?

 

4

 

)

 

4

 

 

x

 

(

  

x

  

4

 

 

)

 

4

 

 

x

 

(

  

x

  

  

:

  

6

 

 

)

 

1

 

 

x

 

(

 

x

  

6

 

  

)

 

1

 

 

x

 

(

  

x

   

=

+

+

+

-

-

-

-

+


_1134764040.unknown

_1134764068.unknown

_1134764088.unknown

_1134764097.unknown

_1134764100.unknown

_1134764093.unknown

_1134764079.unknown

_1134764084.unknown

_1134764072.unknown

_1134764052.unknown

_1134764061.unknown

_1134764065.unknown

_1134764055.unknown

_1134764046.unknown

_1134764049.unknown

_1134764043.unknown

_1134763989.unknown

_1134764004.unknown

_1134764013.unknown

_1134764022.unknown

_1134764037.unknown

_1134764025.unknown

_1134764018.unknown

_1134764008.unknown

_1134763996.unknown

_1134764000.unknown

_1134763992.unknown

_1134763971.unknown

_1134763980.unknown

_1134763985.unknown

_1134763975.unknown

_1134763785.unknown

_1134763951.unknown

_1076428390.unknown

_1076428466.unknown

